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2. CBOOHbIE OAHHbIE

Kypc 1 Kypc 2 Wiror
ceM. ceM. CeM. CeM. 0
1 2 Bcero 1 2 Bcero
21 19 40
TeopeTunyeckoe 0by4deHue 14 | 71/3 1/3 12 |71/3 1/3 23
3 | DK3aMeHaUMOHHble ceccun 2 2/3 1223 | 2 2/3 1 22/3 | 51/3
Y | YuebHast npakTuka 4 4 8 2 2 10
H | HayuHo-uccnegosatenbckas pabota
7
% HayuHo-nccneposatenbckas pabota 5 2 5 5 - 6
| (paccpen.)
1| MNMponsBoacTBeHHas NpaKTUKa 10 10 2 8 10 20
I MNoaroToBka MarMcTepckoun 4 4 4
avccepraumm
r [oC. aK3aMeHbl U/vnn 3awmnTa
avccepraumm
KaHukynbl 2 6 8 2 8 10 18
UToro 22 30 52 22 30 52 104
CtyneHTOoB 16

Mpynn




